Math 140 — Prof. Beydler 4.4 — Practice

Page 1 of 2
1. Sketch™Qa  6XQ) . (Hint: 1 Ed

— 7

O Downain ¢ all real #s

@x-in"(se’r y=0): xe =0 = X=0 (9, 0)
\ -int (set x=0): £(= 0.e’-0 (o) 0)

@ \L_AC None

R fi xe = Lo X =0 - HA y=o0
X to

X1

firm x€™ = — o

XA -0

@ ') = y-e "yt e ™|

-—
-—

()= (V- e (D
- e *_(I-x)e” "

_ erk(‘ ’X) - e-x(_' '(l'X))

—X -
e -Xeé

=e " (x-v
! =0° u
L&-— F (x) =0:
c'x(\‘;x\ =o e (x-1)=0°
x =| X fl




Math 140 — Prof. Beydler 4.4 — Practice Page 2 of 2

Q: What three letter word can prefix the following three words to make three new words?
Ache, Nest, and Drum.



